1. lim f(xX)=—x0 lim f(x)=o 2. lim f(x)=w lim f(x)=—-o0
3. lim f(x)=o0 lim f(x)=—w0 4. lim f(x)=o lim f(x) =0
X—>—0 X—>+00 X—>—00 X—>+00
5. degree =6, lim f(X) =—0 lim f(x)=—-o0
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6. degree=7, lim f(X) =—w0 lim f(x)=o00
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7. 4x* + 12xy + 9y? 18. no, 2x% —x + 3 — > 26. x = —1, rational
x—1
8. 8x3 — 12x%y + 6xy? —y3 =2, =2 irrati
X Xy Xy y 19, 2x2 4 x 43 — % x =42, \/i, irrational
9. x>+ x—30 - 1 -2 )
20. f(x) =x(x—3)(x+5) f@) = G+ DE =V +v2)
10. 16x%+9 27. =-3x(x —2)%(x+ 1
f(x) = x3+2x%2 — 15x f@x) X2+ D)
11. (8x —5)(8x +5) D =4
21. x =0, -3, -1 ceree
12. (x — 5)(x2 + 5x + 25) o xg 2 lim f(Q == lim f(x)=—
13. (x = 7)(x + 3) ) x-int: (0, 0); (2, 0); (-1, 0)
23. £1,£3,£9,£27,+ - y
14. —=3(3x +2)(x —5) o N
24, F(x0) = (x = 2)(x + 1) (x — 30 (x + 30)
15. x =9,8 !
25. f(x) =x3+x+ 10 F
16 x = 3+V11i
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17. —x? +25x — 8 _\f__ -
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